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Question Number : 1 Question Id : 2012982099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which button is used to increase the display size of the window?

Options:
1 % Down Size

- % Minimize
= « Maximize

4 % Bottom Scroll

Question Number : 1 Question Id : 2012982099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 2 Question Id : 2012982100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is a technique for transforming information on a computer in such a way that it becomes unreadable.

Options:
» Decryption

1
5 of Encrvption

= % Atomisation

4 % Customisation



Question Number : 2 Question Id : 2012982100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 3 Question Id : 2012982101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Database has a extension.

Options:
1 B dt

> % .data

4 % .dta

Question Number : 3 Question Id : 2012982101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 4 Question Id : 2012982102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘What is the use of a screensaver?
Options:
. » Toreduce power consumption.

- « Tomnot reduce power consumption.

- % o increase power consumption.

4 % Tohibernate the computer.

Question Number : 4 Question Id : 2012982102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 5 Question Id : 2012982103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When vou put your computer into hibernation, all information within it is saved on:

Options:
1 « Hard Disk

5 ® Random Access Memory
5 u Compact Disk

4 % Digital Versatile Disk

Question Number : 5 Question Id : 2012982103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 6 Question Id : 2012982104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which is not the component of UPS system?

Options:
, w The static bypass

The rectifier

ra
®

- % [Ihe battery

4 « The toner

Question Number : 6 Question Id : 2012982104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 7 Question Id : 2012982105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
cause the power signal to alternately swell and shrink very quickly.

Options:



, % Impulsive transients

> % Swell

5  Oscillatory transients

4 % Sag

Question Number : 7 Question Id : 2012982105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 8 Question Id : 2012982106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What is a printer?

Options:

1 % Itis asoftware

> o It1is a hardware
5 % It is a networking device

4 % Itisaninputdevice

Question Number : 8 Question Id : 2012982106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 9 Question Id : 2012982107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What is the start menu option to view installed printers?

Options:

| « Press Windows key and type printer

> » Press Windows key +P

5 » Press Windows key + S

4 » Press Windows key +1

Question Number : 9 Question Id : 2012982107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 10 Question Id : 2012982108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A printer’s speed determines its
Options:

1 % cost



o o printing number of pages

- % brand

4 % quality

Question Number : 10 Question Id : 2012982108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ffex &1 7ifay s@r i =3 2

Options:
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Question Number : 11 Question Id : 2012982109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
This standard feature of Windows NT, 2000, XP, Vista and Windows 7 allow a group of printers to share the same name

and function as if they were one printer:
Options:
, « Printer pool

- % Printer group
%z % Printer network

4 % Printer server

Question Number : 11 Question Id : 2012982109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 12 Question Id : 2012982110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Text included in is NOT automatically corrected.

Options:
1 Hyperlinks

> % Text box
= % Footer

4 % Header

Question Number : 12 Question Id : 2012982110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 13 Question Id : 2012982111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
converts common text shortcuts into their proper characters.

Options:
1« Auto Correct

-~ % Auto Capitalization



= % Auto Shortcuts

4 % Auto Check

Question Number : 13 Question Id : 2012982111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 14 Question Id : 2012982112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In general the wrongly tvped word is underlined with colour.
Options:

1 « red

> % green

- » Yyellow

4 % Dblue

Question Number : 14 Question Id : 2012982112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 15 Question Id : 2012982113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Aa~
The above icon in the Font group stands for

Options:
,  Change case

> % Grow font
= % Shrink font

4 % Clear formatting

Question Number : 15 Question Id : 2012982113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 16 Question Id : 2012982114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Sentence case is the conventional way of in a sentence.

Options:
| « Using capital letters

- » excluding capital letters from your text



- » capitalizing all of the letters

, » capitalizing the first letter of each word and leave the other letters lowercase

Question Number : 16 Question Id : 2012982114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 17 Question Id : 2012982115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Can you have more than one LAN card in your computer?

Options:
1 o Yes

> % No
= % Sometimes

4, » Itisbased on Operating system

Question Number : 17 Question Id : 2012982115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 18 Question Id : 2012982116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Web page is an electronic document written in language.
Options:

1. % C

4 % All of above

Question Number : 18 Question Id : 2012982116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 19 Question Id : 2012982117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In RS 232 standard, what does RS stand for?

Options:

, % Random Sequence

- » Recognized Standard

= « Recommended Standard

, » Registered Standard

Question Number : 19 Question Id : 2012982117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:

. » {8H ¥ (Random Sequence)

5 R frsassE Tvss (Recognized Standard)
. » N&H=SS ¥vss (Recommended Standard)
4 % foees ¥vsE (Registered Standard)

Question Number : 20 Question Id : 2012982118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the full form of WiFi1?
Options:

| « Wireless Fidelity

-~ » Wired Fidelity

5 % Wireless Fixing

4 % Wireless Fixture

Question Number : 20 Question Id : 2012982118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 21 Question Id : 2012982119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
There are how many options in ‘create group’ in mailing tab?



Options:
1 ® 1

o o 2

Question Number : 21 Question Id : 2012982119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 22 Question Id : 2012982120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the type of document which creates a single document containing a catalog or printed list of address in the

mail merge.
Options:
1 % Letters

> % Labels

-  Directory

4 # Envelopes

Question Number : 22 Question Id : 2012982120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 2012982121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
There are many internet services, but one needs to choose the one service that:

Options:
1 + best suits customer needs.

- % 1s less costly.
- % 1is available easily.

4 % isavailable everywhere.

Question Number : 23 Question Id : 2012982121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 24 Question Id : 2012982122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The quality of internet speed depends solely on:
Options:

_ the distance
1



. w type of browsed sites

2 ® Service pI'DTldEI‘

4 » ype of user

Question Number : 24 Question Id : 2012982122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 25 Question Id : 2012982123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a high-speed internet service?

Options:
1 # Cable

o  Dial-up

=z % Satellite

4 % DSL

Question Number : 25 Question Id : 2012982123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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. » DSL

Question Number : 26 Question Id : 2012982124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Your bandwidth is shared with people in your area, such that when more people use the cable broadband service at once,

the slower the internet service is for everyone including you. Which service of the below is being referred to in here?

Options:
1 « Cable broadband

- u Fiber optic service

- % ADSL

4 % Satellite

Question Number : 26 Question Id : 2012982124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& ATHEer & maey d=fEy (v Si=R) a9 &7 & Al F gry g@rEw o A g R e @
HE ST T [T [T H START FET YT F G, A $SAC Far 3 wigg 7w F o o g s
gl

Options:
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Question Number : 27 Question Id : 2012982125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Symmetric DSL is quite obvious option to choose if you use:

Options:
1.« VPN

o R LAN



2 % WAN

4 % MAN

Question Number : 27 Question Id : 2012982125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. v VPN
» % LAN
- = WAN

4 % MAN

Question Number : 28 Question Id : 2012982126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The process of transforming URLSs to assign importance to web pages and to reduce indexing of duplicate pages is done

by:

Options:
1 % browsers

o # SErvers

-  Search engines

4 % clients

Question Number : 28 Question Id : 2012982126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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4 % FATIC

Question Number : 29 Question Id : 2012982127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Word allows to adjust the columns by adding:

Options:
1 « Column breaks

- u Page breaks

= # Line breaks

, » Paragraph breaks

Question Number : 29 Question Id : 2012982127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 2012982128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The four primary types of text alignment include left aligned, right aligned, . and justified.

Options:
1 % first
> % second

= % third

4 « centered



Question Number : 30 Question Id : 2012982128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 2012982129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word, We can manually select the number of the columns by clicking columns option in the columns

drop down menu.
Options:
1 # Customize

- « More
= % Control

4 % Insert

Question Number : 31 Question Id : 2012982129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 32 Question Id : 2012982130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In MS Word, We can manually select the spacing of the columns by clicking option in the columns drop down
menu.

Options:

1 % Customize

- o More
= % Control

4 % Insert

Question Number : 32 Question Id : 2012982130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 33 Question Id : 2012982131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘While creating traditional columns in a document in Word 2007, if we do NOT highlight any text. Word will format the

Options:
1 « entire document

> % firstpage

- » first paragraph

4 w lastpage

Question Number : 33 Question Id : 2012982131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 34 Question Id : 2012982132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is the process of creating custom mailings.

Options:
1 % Mail customize

o  Mail merge

= % Create mail

4 % Merge mail

Question Number : 34 Question Id : 2012982132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 35 Question Id : 2012982133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
While using the feature you must have a main document and a data source.



Options:
1 % Mail customize

o  Mail merge

3 % Create Mail

4 % Merge Mail

Question Number : 35 Question Id : 2012982133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 36 Question Id : 2012982134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
In an address list, each category of information. such as last name, is called a

Options:
1 « Field

> # Record
- % Data Column

4 % Datarow

Question Number : 36 Question Id : 2012982134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 37 Question Id : 2012982135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The set of fields that make up information about one person is called a

Options:
1 = Field

&,

> « Record

Data Column

L
®

4 % Datarow

Question Number : 37 Question Id : 2012982135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e cofeg & 7 # FTHT ST & T BU 97 freg & 8¢ H T F:aT Fam 87
Options:

1 #® Lﬁﬂ”g

5 % 33T HTH

4% ger dfea ()

Question Number : 38 Question Id : 2012982136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which option represents two types of barcodes?

Options:
1 « Linear and 2D

> % Non-linear and 2D



= % Linear and 3D

4 % Non-linear and 3D

Question Number : 38 Question Id : 2012982136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A=oa # @ Hiaar FeeT & IR F aTHST H AT 87
Options:

| v AAI (@) 3w 2D

. AF-efaaR (@) 3t 2D

2

. « e (@) 3l 3D

4 & #—m 3‘ﬁT 3D

Question Number : 39 Question Id : 2012982137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Universal product bar code is made up of:

Options:
, w S8-digit number

> % 10-digit number

-  12-digit number

4 % 16-digit number

Question Number : 39 Question Id : 2012982137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
faade Wsee AR & EIT § &4 2

Options:
| ® 8-FF

5 % 10-37F

= v 12-3%



4 % 16-37F

Question Number : 40 Question Id : 2012982138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Number of bits in 1 KB of memory is:

Options:
1 % 1024

> % 1000
5 % 976

4 « 8192

Question Number : 40 Question Id : 2012982138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

1 KB #AN &7 faew $r g=ar fraer g 22
Options:

% 1024

- % 1000
5 % 976

4 v 8192

Question Number : 41 Question Id : 2012982139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of bytes in 4 KB of memory is:

Options:
1 % 4000
5 « 4096

5 % 3904

4 % 32768

Question Number : 41 Question Id : 2012982139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



4 KB &AM & sr=cy &7 T& haer 2 &7
Options:

. % 4000
. » 4096
- = 3904

4 % 32768

Question Number : 42 Question Id : 2012982140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Binary system digits are called:
Options:

, % Dbytes

> % numbers
5 o bits

4 % codes

Question Number : 42 Question Id : 2012982140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

sl TATEH 3% F FIT FaT T 272
Options:

1 ® E”gEﬁE[

g_ﬁm

Question Number : 43 Question Id : 2012982141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A Blu-Ray Disc can store up to of data on a single layer disk.

Options:



Question Number : 43 Question Id : 2012982141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T - BEF T Wa B W g% 37 TN FT TFT 2

Options:

, % 20 GB

. % 22 GB
5 % 23 GB

4 « 25 GB

Question Number : 44 Question Id : 2012982142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Storing of same data at many places is called:

Options:
| % Data Enumeration
- % Data Iteration

3 % Data Concurrency

4 + Data Redundancy

Question Number : 44 Question Id : 2012982142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

F5 TATAT 9T UF & 32T T TS FIa T FAT Fgl JATdT 872
Options:

2T AT (VgAY

1 %



S 3T IR fed (HTIER)
, « 3¢ HHAA! (el

. v 327 A (Revsd

Question Number : 45 Question Id : 2012982143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A standard CD ROM can hold data up to:

Options:
1 % 1.44 MB

> « 650 MB
s % 2GB

I 1.TH

Question Number : 45 Question Id : 2012982143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

U HISS TIEr TH ST 32T TN FIA 5T [ohdalr &THdT giar 87
Options:

. % 144 VB
. v 650 MB
- % 2 GB

L% 1TB

Question Number : 46 Question Id : 2012982144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When a computer is switched ON, which of the following tests is

performed by the booting process?

Options:
| % Integrity Test

- Power - On Self - Test



_ Correct Functioning Test
3. E L]

Reliability Test

Question Number : 46 Question Id : 2012982144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FUeT F Taw 37 g W, I 9w e F F FiT F TTT H A6 HAT 22

Options:

llwgaﬁmm

Eﬁ;qmarﬁ?rﬂwh-éﬁ

4 % el e

Question Number : 47 Question Id : 2012982145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The size of commonly used floppy disk is:

Options:
1 % 4.5"

Question Number : 47 Question Id : 2012982145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HHAR T FIFT FA 3FF F 3FR FT e 87

Options:

| % 45"
- & 3.5"

3 % 3.25"



, % 55"

Question Number : 48 Question Id : 2012982146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Proprietary software is a software that is by an individual or a company.
Options:

1 « owned

> % freed
5 % distributed

4 % shared

Question Number : 48 Question Id : 2012982146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

AT AoeaR & Wew # foea |/ 7ar wdr 37
Options:

» T8 U 9T I1 fed & AT H 29T 8

il

, » € TF FOe AT Tfed gar F=as Far S g

.« T8 U HUel A e @RI aaRd far S gl

, » TE TF FO A1 Tfed g @ R S g

Question Number : 49 Question Id : 2012982147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is a proprietary software?

Options:
1 % Scilab

> % Kexi

3 % Open Office Writer

4 « MathWorks MATLAB



Question Number : 49 Question Id : 2012982147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TRl § ¥ 9 O TF @A & 3399 67

Options:
, » WIS (Scilab)
, w oherdl (Kexi)

L x HIT FHE TR

4 Fuaew Ao

Question Number : 50 Question Id : 2012982148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is not a producer of proprietary software?

Options:
1 # Macromedia

> w Sun Microsystems

= « Automattic

4 ® Oracle

Question Number : 50 Question Id : 2012982148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o # 9 7 v m=ficT giveday & FATr ag 22

Options:

!

, » T ASHIEEFE

- v HRHAREH
4_5&%

Question Number : 51 Question Id : 2012982149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following financial tools is a proprietary software?
Options:

| % OpenSSL

> % TurboCASH

2 Authorize.net

4 % Compiere

Question Number : 51 Question Id : 2012982149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

fTafof@a & 9 #i9 T FEAETd o T TEifEcT AweaI 87
Options:

» HIoaTETaETe (OpenSSL)

1

, » Tarer (TurboCASH)
. » HEEAC (Authorize.net)

. FATL (Compiere)

4.

Question Number : 52 Question Id : 2012982150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The following which is not to be confused with free software. is a type of proprietary software that is offered for use

free of monetary charges.
Options:
1 « Freeware

5 % Virtualware
- % Firmware

4 w Legal software

Question Number : 52 Question Id : 2012982150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
frefafee S goa Oiwecds S 7@ TAST S ol ¢, UF TR & FEMAcs SiFead § 51 Afew
e ¥ AFA 394 & O 390 ¢




Options:

| v BEW

&

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 2012982151 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section I d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

EEADING COMPEEHEMNSION

201298254
2

Online
Mandatory
1

1

5

Yes

No

1
201298254
Yes



Thimakka - Growing Trees

Thimakka and her husband Bikkalu Chikkaiah lived in Hulikal
village in Karnataka. They were very poor. Bikkalu was a disabled
person and Thimakka worked as a labourer in a quarry.

The couple had no children. They felt lonely. People in the
neighbourhood passed hurtful remarks.

One day, tired of listening to the neighbours’ jibes, Thimakka
decided to adopt children. They would not be human children: they

would be trees.

The lonely couple decided to plant 300 Banyan trees along a three
kilometer stretch of road on National Highway 48 in Kamataka and

care for them like their own children.

Since Bikkalu was handicapped, Thimakka had to work for their
daily bread. Her wages as a labourer were barely enough to
survive. The work was back breaking and though she did not have

much time for other things. she was determined in her resolve.

They dug pits on either side of the road, chose suitable saplings
and planted 300 of them. They put up thorny bushes around the

saplings to prevent them from being eaten by the cattle.

Each morning, Thimakka carried water in pots from a long distance
to water the saplings. During rainy season she would poke at the
roots of the trees to make them go deep inside . Since the area was

not fenced she kept a constant vigil for ten whole years.
This was time well spent and it gave her a sense of fulfillment.

Each morning she would go down the Kudur Road and attend to
the saplings. The saplings too responded to the love and affection

and responded by growing into strong and healthy plants.

Ten years later, the trees grew big and shady and stood like a green
canopy along the road providing shade to the travellers, shelter to

the birds and prevented soil erosion.

The trees are worth 85 crores rupees. But we all know Banyan
trees can live to more than 200 years if not cut down. So. these

Banyans are a national treasure.

In the year 1996, Thimakka’s work was recognized. She was
awarded the National Citizen’s Award for social forestry by the
Prime Minister of India.



Sub questions

Question Number : 53 Question Id : 2012982152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the most appropriate option.

Thimakka and Bikalu decided to adopt trees because

Options:
1 they had no children.

- » they loved green plants.
- u trees would fetch money.

, » there were less trees in neighhood.

Question Number : 54 Question Id : 2012982153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following statements is NOT TRUE?

Thimakka cared for her trees by
Options:
| % watering them everyday
5 % protecting them with thorny bushes

- » keeping a constant vigil on the plants

A5 hugging each plant every day

Question Number : 55 Question Id : 2012982154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Thimakka particularly chose to grow banyan trees

because

Options:
, w she could sell the wood and make money.

- % banyan trees needed very little care.



5 » they would provide rich food for the cattle.

4  Danyan trees were shady and lived long.

Question Number : 56 Question Id : 2012982155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How was Thimakka’s work recognized ?
Options:

, w Her story was published in all papers

She was given a National Award by the Prime
>  Minister

- » Neighbours stopped passing remarks

4 % Allthe trees grew big and shady

Question Number : 57 Question Id : 2012982156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
After her work has been recognized Thimakka could rightly be called

Options:
1 % afarmer
- % an activist

= « an environmentalist

4 % alabourer

Question Id : 2012982151 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension



7T — Growing Trees
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Sub questions

Question Number : 53 Question Id : 2012982152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
oY 39gad 9%eT & Iad i)
J -
o 3R Rere) & 981 1 a9aa & Haer
Fg_ famar?
Options:

| v 37 P WA AT A
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Question Number : 54 Question Id : 2012982153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o= & ¥ 39 T Fua a7 78T 22
AT & 39 9T Fr SEHTA Fr|

Options:
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Question Number : 55 Question Id : 2012982154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 56 Question Id : 2012982155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

AT & F1H F1 FHH 98T Fer?
Options:
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Question Number : 57 Question Id : 2012982156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

3T% FH FI I Do & IC UHFH Fr aEag § TSI AT Fehell ¢

Options:

| % T fREme

L LY
5 % Teh SHIUhd
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QUANTITATIVE APTITULE
Section Id : 201298255
Section Number : 3

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 201298255
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012982157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What would be the compound interest accrued on an amount of ¥ 7,400 @ 13.5 p.c.p.a. at the end of two years?

(rounded off to two digits after decimal)
Options:
1 ® < 2,136.87

, » T 230681
3 % <2,032.18

5w T2I087

Question Number : 58 Question Id : 2012982157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

¥ 7,400 Fr Tfr 9 13.5% T« T W THAT THgie A1 & I a1 Fhaar gen? (GuHes & g ar
HF TH)

Options:

| % 32,136.87

. » ¥2,306.81
. » $2,032.18

4 $2,132.87

Question Number : 59 Question Id : 2012982158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The sum invested in Scheme B is thrice the sum invested in Scheme A. The investment in Scheme A is made for 4 years

at §% per annum simple interest and in Scheme B for 2 years at 13% per annum simple interest. The total interest
earned from both the schemes is ¥ 1320. How much was invested in Scheme A?



Options:
1« T 1200

> % T 1140
s % T960

4 % T1500

Question Number : 59 Question Id : 2012982158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Tt B & faer & 715 A qaar A 7 F5wr ff 7% & & I T g1 A9 A F 8% Ffa v
TTRUT 0T TR 4 F91 & OrT aur I1sar B & 13% 9ig a9 WuRor sus W 2 a8t & fore it &
fraer Brar mam 81 @ WSt § For wrod s T 1320 g1 A A # faer oy & e fea
AT AUT?

Options:

.« 1200

, # T1140
5 # T 960

. T1500

Question Number : 60 Question Id : 2012982159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ratio between the three angles of a quadrilateral is 3 : 5 : 9. The value of the fourth angle of the quadrilateral is 71".
What is the difference between the largest and the smallest angles of the quadrilateral?

Options:
1 ® 82:

5 % 106
o o 107

4 ® 92:

Question Number : 60 Question Id : 2012982159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
TS F A FIOT F AT HqAT 30 50 9 Fl TGS & I FOT F A 71| TS F TIF 9
3k o Fot F &= F9r AT B2



Options:

1 ® 82:
5 % 106
o 107

T 92:

Question Number : 61 Question Id : 2012982160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ratio of the present age of Manoj to that of Wasim is 3 ; 11. Wasim is 12 years younger than Rehana. Rehana’s age

after 7 years will be 85 years. What is the present age of Manoj’s father, who is 25 years older than Manoj?
Options:

1 43 years
5 % 67 years

5 % 45 years

4 % 69 years

Question Number : 61 Question Id : 2012982160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Aas 3R afdw & gaw= 3g & e 3 0 11 ) 98F Ter § 12 a¥ orer g1 7 ' 95 @ H
g 85 T gel| AT & Fer Fr aoHe 3y Bt € S A @ 25 A a9 @2

Options:

| @ 43 3w
5 % 67 T
5 % 45 T

4 % B9 T

Question Number : 62 Question Id : 2012982161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The present age of Bob is equal to Abby’s age 8 years ago. Four years hence, the ratio of Abby’s age to Bob’s age will

be 5 : 4. What is Bob’s present age?

Options:



| % 24 years
32 years
40 years

28 years

Question Number : 62 Question Id : 2012982161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e @ TA WY U F 8 Y IF FY MY F WL g1 IS § IR IY T, V& AR 9 F g w7
HT 5 1 4 g FTC| Sia H TIAT A FAT §7?

Options:

, % 24 I§
> % 32 9§
5 % 40 I

4 v 28 T

Question Number : 63 Question Id : 2012982162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the following number series only one is wrong. Find out the wrong number.

33 321 465 537 H¥8 3% 800
Options:
; % 321

> % 465

4« 590

Question Number : 63 Question Id : 2012982162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



=T8T T&TT /@en § Fao U TEIT 700 gl I8 Toid W&l Hid 4T g2

33 321 465 b37 573 5HHO0 600

Options:

| = 321

- % 465

2 % 573

4 « 590

GEMERAL MENTAL ABILITY AMD REASCONIMNG

Section Id : 201298256
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 201298256
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2012982163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Study the following arrangement carefully and answer the question given below:

WIR%4JE#TMT219BH3IAS9FQ5DG6USP

If the order of the last fifteen elements is reversed, which of the following will be fifth to the right of twelfth from the
left end?
Options:

1. U



Question Number : 64 Question Id : 2012982163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

=T coarwr# caeEs 98 AR sEF A G2 7 o & 5o S
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Options:

1. v U

Question Number : 65 Question Id : 2012982164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following arrangement of letters, digits and symbols to answer the question given below:

R*TIJL2SD=M#B8C%B<K1&AW?PE+Q@7F6

If the first fifteen elements in the above sequence are written in reverse order, then which of the following will be
twenty-first from the right end?
Options:

1.v 2
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1. ¢ 2
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Study the following series of alpha-numeric-symbol combination (of three terms each) and answer the question that

follows:
SK6£Q2R*CFSESG2#49L_\'3U‘»-":'*Y&B?WQ

What should come in place of question mark in the following series?
SOK 6 WE Q72 ? Ca¥F
Options:

1 ® RA*

> B L
3 % 2BR

4« RB*
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Use the following series of elements (letter-number-symbol) to answer the question. Every two-digit number (given in

brackets) is to be treated as single number.
2*856B9SQ3EI7RD4£(13) U@K (18) A(14) P

Each alphabet has a value of zero; each symbol has a value equivalent to the square of the numeral that immediately
preceded the symbol. or the value of 1 if it is not immediately preceded by any numeral. What will be the sum of the

values of the first 10 elements of the series starting from the left end?

Options:
1 ® 46

o B 79
2 % 107

i 1B
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Four words are given. Which of them will come third if all of them are arranged alphabetically as in an English

dictionary?
Options:
1 % Intense

> % Intellect
% « Intend

4 » Intelligent
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Options:

1 # Intense

> % Intellect
= « Intend

4 = Intelligent
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Select the alternative with the most appropriate description about these three words.

Ulna : Pelvis : Tibia
Options:
, » They are muscles.

- % TIhey are organs of urinary system.



5 % [Ihey are technical names for blood groups.

4  They are bones.
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Moraines are formed in
Options:

, « Glacial regions



> % Monsoon region
z % River deltas

4 » Arid regions
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Which of the following organisations issues the rules of global trade?

Options:
1 ®% World Bank

>  World Trade Organization

- » [Foreign Exchange Dealer’s Association

4 w Directorate General And Foreign Trade
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Who is said to be the father of Modern Olympic?

Options:
1 % Robert Dover

> « Pierre de Coubetin
= % Theodosius I

4 # Ernest Curtis
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Which one among the following is a primary rock?
Options:

, w Sedimentary

5  1gneous

5 % Metamorphic



4 w Crystal
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In which year were the Fundamental Duties added to the existing fundamental rights in the Constitution of India?

Options:

; % 1965
5 « 1976
= % 1979

4 % 1982
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. % 1965

. v 1976

= % 1979

. % 1982
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Three-tier system of Panchayati Raj consists of:

Options:
, w» Gram Panchayat. Panchayat Samiti. Block Samiti

» % Gram Panchayat, Block Samiti. Zila Parishad

- » Block Samiti, Zila Parishad. Panchayat Samiti

4 « Gram panchayat, Panchayat Samiti. Zila Parishad
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Surmimer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmworls, socializing, decision making, independent and responsible living and more, [t aids the
overall developrnent of a child and children have fun during this process as they get to explore new arenas.
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If vou are planning to fly abroad during your winter vacation, Seville is the place to go. Although this city in
Spain is not much of a winter wonderland, yet it has got more popular in the recent years. More and more
tourists are visiting the city every year during the festive winter season. During this time, the festive cheer in
the city rises to unprecedented levels. The entire city gets involved in the celebration of Christmas and New
Year. [t has a lot to offer to every kind of traveler, and so planning a trip to Seville during the winter time is
certainly a great deal. But before you fly off to Seville, make sure you are aware of all the things that you can
do there, places you can visit, and tips you must keep in mind. Here is a list of things to do in Seville in the
winter season. Spanish Cuisines. Regardless of the season, food in Seville is simply amazing. The exceptional
taste of the food is surely going to burst your taste buds. During the winter, you can try the traditional tapas
of the city which is treated as the comfort food during the cold winter days. Christimas Market. Your visit to
Seville in winter is incomplete without paving a visit to the farmous Christmnas market in the city. Seville has
different Christimias markets located at different parts of the city. The markets are filled with beautiful
Christmas gifts and hand-crafted items. This is the best way to entertain vourself especially if vou area
shopaholic. If you want to enjoy Seville, winters are the best time to visit the city. Now that you hawve the list of
things to do in winter in Seville, you can enjoy your holidays to the fullest.
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